Name: 623 Exponents and Logarithms
1. A radioactive substance decays in such a way that the amount of mass remaining
after t days is given by the function m(r)= 13¢°% where m(t) is measured in
kilograms.
a.) Find the mass at t=0
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b.) How much mass remains after 5 days?
- W<l
ML = Ny
L Y B S W 4
2 The amount of time it takes to double the amount of an investment at an interest
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rate r compounded continuously is given by the formula 7=——. Find the time
r
required to double an investment at 6%, 2% and 19%.
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2 Solve each equation.
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Evaluate each expression.
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Use the laws of Logarithms to expan
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The population of the world in 2000 was 6.1b
growth rate was 1.4% per year. 1f the populati

when will it reach 122 billion? Assume €O
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A culture contains 1500 bacter
a.) TFind a function that mo
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b.) Find the number of bacteria
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10.

The velocity of a skydiver t seconds after jumping is given by v(t) = 80(1—¢ ™).

After how many seconds is the velocity 70 ft/sec?
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A sum of $1000 was invested for 4 years, and,’the interest was compounded

semiannually. If this sum amounted to $1453.77 in the given time, what was the
interest rate?
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The fox population in Blue Hills has a continuous growth rate of 8% per year. It s
estimated that the population in 2000 was 5600.
a.) Find a function that models the population t years after 2000.
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b.) Use the function to estimate the number of foxes in 2010.
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The population of California was 10,586,223 in 1950 and 23,668,562 in 1980.
Assume the population grows exponentially.
a.) Find a function that models the population t years after 1950.

XY

o M e,

2 S OB/ Me LY

) LN o {

--,D 3 Y A . \\--'A‘Rl"‘"“{' A

ATy T A

b.) Determine how long it takes the population to double.
LaTa DDl ~ped s
2 s \a1 %
2884y ¢ LG

c.) Use your function to determine the population of CA in 2000. How far is
is from the actual population of 33,871,648?
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